5.3 The Little Theorem

1. Use Fermatis Theorem to verify 17 (11 104+1) Since 17 / 11, 11 = 1 (mod 17) (Fermat's Th.) .. (116) = 1196 = 1 (mod 17) But 121 = 11 and 7.17 = 119 = 121-2 $\frac{10^{2}}{10^{8}} = 2 \pmod{17}$ $\frac{10^{8}}{10^{8}} = 2^{4} = 16 \pmod{17}$ $\frac{10^{8}}{10^{8}} = 16 \pmod{17}$ 11 104 = 16 (mod 17) But 16 = - (mod (7) -- 11104 = - (mod 17) => 17 /1104+1 2. (a). If gcd (a, 35) = 1, show a = 1 (mod 35) Since 35=7-5, Then gcd (a, 7)=1, gcd(a,5)=1.
-- By Fermat's Theorem, $a^6 \equiv 1 \pmod{7}$ and $a^4 \equiv 1 \pmod{5}$

$$\vec{a} = \vec{a} \cdot \vec{a} = |(mod 7), (\vec{a}^4)^{\frac{3}{2}} = \vec{a}^{\frac{12}{2}}|^3 (mod 5)$$

Since $\gcd(5,7) = 1$, by $corollary 2$, $section 2.2$, $35 |\vec{a}^{\frac{12}{2}}| = 2$ $(mod 35)$

```
(b) If gcd (a, 42)=1, show 168= 3.7.8 divides a6-1
    Since 42=7-3.2, gcd(a,7)=gcd(a,3)=gcd(a,2)=1
   By fermats Th.,

a' \equiv |(m \circ d7), a' \equiv |(m \circ d3), a \equiv |(m \circ d2)|

But a' \equiv |(m \circ d3) \equiv |(m \circ d3), so
        a6=1 (mod 3)
   A(50, a^{6-1} = (a-1)(a^{5}+a^{4}+a^{3}+a^{2}+a+1)
= (a-1)[a^{3}(a^{2}+a+1)+a^{2}+a+1]
                     =(\alpha-1)(q^3+1)(a^2+q+1)
                     = (a-1)(a+1)(a2-a+1)(a2+a+1)
        Assume (a) >1. Since a is odd
           if a >0, Then Then a =3, so 2/a-1 and
           4 | a+1, = 8 | a -1
if a < 0, Then a = 3 50 4 | a-1 and 2 | a+1, so
      Since 7/a'-1, 3/a'-1, and 8/a'-1, and
         3,7,8° are relatively prime, Then
3.7-8=168/a°-1
(c). If gcd (a, 133) = gcd (6, 133) = 1, show 133/a'8-6'8
      133 = 7-19. : gcd (a, 19) = gcd(6, 19) = /
By Fermatí Th.,
a = / (mod 19), b = / (mod 19)
```

$$A = 6^{8} = 1 - 1 = 0 \pmod{1?}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 - 1 = 0 \pmod{1?}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6^{8} = 1 \pmod{2}, ... 19 | a^{18} - 6^{18}$$

$$A = 6$$

3. From Fermatis Th., show for any integer n20, 13 112n+6+1 Since 13/11, 11 = 1 (mod 13) by Firmat's Th.

-. (1 = 1=1 (mod B).

But 112=121 and 9-13=1/7. :. 112=4 (mod 13) --. 116=43=64 (mod 13). :. 116=64-13.5=-1 (mod 18) -- 11 2n 16 = 1.(-1) (mod 18), or 11 =-1 (mod 18)
-- 13 | 11 12n +6 +1

```
4. Derive each congruence
    (a). a = a (mod 15) for all a.
         a^{5} = a \pmod{5} by Fermat's 7h.

a^{5} = a \pmod{5}, or a^{20} = a \pmod{5}

a^{21} = a^{5} = a \pmod{5}
          Also, a^3 \equiv a \pmod{3}, a \equiv a^7 \pmod{3}, and a^3 \equiv a^7 \pmod{3}, or a^6 \equiv a^7 \pmod{3}. a^7 \equiv a^7 \equiv a \pmod{3}. a^7 \equiv a^7 \equiv a \pmod{3}. a^7 \equiv a \pmod{3}.
           ... 5/ a<sup>2</sup>/-9 and 3/a<sup>2</sup>/-9, ... 3.5/ a<sup>2</sup>/-9,
           .. a = a (mod 15)
    (b) a = a (mod 42) for all a
           42 = 7.3.2. By Fermat's Th., a^2 = a \pmod{7}

Also, a^3 = a \pmod{3}, so a^6 = a^2 \pmod{8},

a^7 = a^3 = a \pmod{3}
           Also, a^2 = a \pmod{2}, ... a^3 = a^2 = a \pmod{2}

... (a^2)^3 = a^3 = a \pmod{2}. ... a^6 = a \pmod{2}

... a^7 = a^2 = a \pmod{2}
          : 7/a2a, 3/a2a, 2/a2a. : a=a(mod7.3.2)
```

(c)
$$a^{13} = a \pmod{3.7.13}$$
 for all a .

By Fermat's Th., $a^3 = a \pmod{18}$

Also, $a^7 = a \pmod{2}$. $a^7 = a = a \pmod{2}$

For $a^{13} = a^7 = a \pmod{2}$. $a^7 = a = a \pmod{2}$

Also, $a^3 = a \pmod{3}$, and $a^7 = a^2 \pmod{3}$

Also, $a^3 = a \pmod{3}$, and $a^7 = a^2 \pmod{3}$
 $a^{13} = a^{12} = a \pmod{3}$, and $a^{12} = a^2 \pmod{3}$
 $a^{13} = a^{12} = a = a^2 = a = a = a \pmod{3}$
 $a^{13} = a^{12} = a \pmod{3}$ by Corollary 2, Sec. 2.2

(d). $a^5 = a \pmod{3}$ for all a .

 $a^5 = a \pmod{3}$ for all a .

 $a^5 = a \pmod{5}$ $a^7 = a^7 = a \pmod{3}$
 $a^7 = a \pmod{3}$ $a^7 = a \pmod{3}$

5. If gcd (a, 30) = 1, show that 60 divides a 4+59 gcd (a,30)=1=7 gcd(a,2)=gcd(a,3)=gcd(a,5)=/ Also, gcd (a,4)=gcd(a,2)=/ 60 = 2 - 3.5. 60 | a4+59 is The same as a4 = -59 (mod 60) or a = 1 (mod 60) gcd (a, 5)=/=> a = / (mod 5) by Fermat's Th. gcd (a,3)=/=7 a=/ (mod3). :. a = 1 (mod3) $gcd(a, 2) = 1 = 7 a = 1 \pmod{2}, \quad a^2 = 1 \pmod{2}$ $a^2 = 1 - 2 = -1 \pmod{2}$ $\frac{1}{3} = \frac{5}{4} = \frac{4}{3} = \frac{4}$ -- By corollary 2, sec. 2.2, 60/94-1 -- a 4= ((mod 60), a 4 = 1-60 = -59 (mod 60) = - 60 | a 4+59

6. (a). Find The units digit of 3 ousing Fermat's R. We need something mod 10. 10=5-2By Fermat's 74, $3^{4}=1 \pmod{5}$ $\therefore (3^{4})^{25}=3^{100}=(\pmod{5})$ A(s0, $3=(\pmod{2})$. $\therefore 3^{100}=(\pmod{2})$ -: 5 | 3'00-1 and 2 | 3'00-1. -: 5-2 | 8'00-1 by corollary 2, sic. 2.2 -. 3 100 = ((mod 10) -. units digit of 3 00 is 1. (b). For any integer a, verify That a sand a have same units digit. By Fermat's Th., $a^{5} \equiv a \pmod{5}$ Also, $a^{2} \equiv a \pmod{2}$, $a^{4} \equiv a^{2} \equiv a \pmod{2}$, $a^{5} \equiv a^{4} \cdot G \equiv a \cdot G = a \pmod{2}$

Also, $a = a \pmod{2}$, $a = a = a \pmod{2}$ $50 \ a^{5} = a^{4} \cdot G = a \cdot a = a^{2} = a \pmod{2}$ $5 \ a^{5} - G \text{ and } 2 \ a^{5} - a = 10 \ a^{5} - a$

-. a = a (mod 10) Lat 0 ≤ r < 10

But
$$C^2 = 3C = 33 + 3 ... C^2 = 3 \pmod{11}$$
 $C^2 = (C^2)^4 . C = 3^4 . C \pmod{11}$
 $C^3 = (C^2)^4 . C = 3^4 . C \pmod{11}$
 $C^3 = (C^2)^4 . C = 3^4 . C \pmod{11}$
 $C^3 = (C^2)^4 . C = 3^4 . C \pmod{11}$
 $C^3 = (C^3)^4 . C = (C^4)^6 = (C^$

:- 2x =1 (mad 31) => X = 16 (mod 31)

Gx = 5 (mod 11) => X = 5.6"= 5.67 (mod 11)

any integers
$$a, b$$
.

$$\vdots \ a = a^p = b^p = b \pmod{p}.$$

$$(b) \ \text{If } a^p = b^p \pmod{p}, \ \text{Then } a^p = b^p \pmod{p^2}$$

$$\text{By } (a), \ a = b + pk, some k.$$

$$\vdots \ a^p - b^p = (b+pk)^p - b^p = b^p + (b+pk)^p + b^p = b^p + (b+pk)^p + b^p = b^p + (b+pk)^p + b^p = b^p + b^p + b^p = b^p + b^p + b^p = b^p + b^p = b^p + b^p + b^p = b^p + b^p$$

$$\begin{array}{c} \vdots - (+2 + \dots + (p-1)) = p \, k \, , \, \text{some } \, k \, . \\ \vdots - (-1)^k + 2^k + \dots + (p-1)^k = p \, k = 0 \, (\text{mod } p) \\ 12 \, \text{ Prove that } \, ; \, f \, p \, \text{ is an odd prime, } \, k \, \text{ an Integer s.t. } \, 1 \leq k \leq p-1 \, , \\ \text{ Then } \left(\begin{array}{c} p-1 \\ K \end{array} \right) \equiv (-1)^k \, \left(\begin{array}{c} \text{mod } p \end{array} \right) \\ \text{ Af: } \left(\begin{array}{c} p-1 \\ K \end{array} \right) = \frac{(p-1)!}{k!} \frac{1}{k!} \frac{1}{k!} \frac{1}{k!} \\ \text{ i. } \, k! \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = \frac{(p-1)(p-2)\cdots(p-k)}{k!} \\ \text{ i. } \, k! \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (p-1)(p-2)\cdots(p-k) \\ \text{ But } \, p - j \equiv -j \, \left(\begin{array}{c} \text{mod } p \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right) \\ \text{ i. } \, \left(\begin{array}{c} p-1 \\ K \end{array} \right) = (-1)^k \left(\begin{array}{c} p-1 \\ K \end{array} \right)$$

13. If p, q are distinct odd primes s.t. p-1/q-1, and if g cd(a, pq) = 1, show $a^{q-1} = 1 \pmod{pq}$ Pf: gcd(a,pq)=1 = 7 gcd(a,p) = gcd(a,q) = / since $p_1 q$ are distinct primes. $a^{p-1} = 1 \pmod{p}$ and $a^{q-1} = 1 \pmod{q}$ Since p-1/9-1, Then 9-1= k (p-1), some k. $--a^{p-1} = ((mod p) = 7a^{k(p-1)} = ((mod p))$ $= 7a^{q-1} = ((mod p))$ -- p | a 9-1-1 and g | a 9-1-1 -. pg | a ?-1 by corollary 2, sec. 2.2 = a q-1 = / (mod pg) 14. If p, q are distinct primes, prove p9-1 + 9 = 1 (mod p9) Pf: By Fermat's Th., pq== | (mod q) Clearly, q1qp-1, so qp-1 = 0 (mod q)

Pf: Must show 2 mp = 2 (mod mp)

Proof is much like proof to Th. 5.2.

Since Z^P-1 is composite, p ≠ 2, so p / 2.

$$(2^{2^{n+1}}-1) \left| (2^{2^{2^{n}}}-1)_{1} \text{ or } (2^{2^{n+1}}) \right| (2^{f_{n}-1}-1) \text{ [i]}$$

$$But 2^{2^{n+1}} = 2^{2\cdot 2^{n}} = 2^{(2^{n})^{2}} = (2^{2^{n}})^{2}$$

$$\vdots 2^{2^{n+1}} = (2^{2^{n}})^{2} - 1 = (2^{2^{n}}+1)(2^{2^{n}}-1)$$

$$= (F_{n})(2^{2^{n}}-1) = 2^{3}$$

$$\vdots \text{ From [2]}, F_{n} \left| (2^{2^{n+1}}-1) = 2^{3} \right|$$

$$\vdots \text{ From [1]} \text{ and [3]}, F_{n} \left| (2^{f_{n}-1}-1) - 1 \right|$$

$$\vdots \text{ Fin is pseudoprime (whenever F_{n} \text{ is composite)}. }$$

$$\text{I. Confirm The following are absolute pseudoprimes}$$

$$\text{(a). } 105 = 5\cdot 13\cdot 11 \text{ . Let a be any integer}$$

$$\text{If } 105 \text{ K a, Then } 5 \text{ K a, } 13 \text{ K a, } 17 \text{ K a}$$

$$\vdots \text{ By Fermal's Fl.},$$

$$a^{4} \equiv 1 \pmod{5}, a^{12} \equiv 1 \pmod{13}, a^{16} \equiv 1 \pmod{17}$$

$$A^{1104} = (a^{12})^{92} \equiv ((mod 5)$$

$$A^{1104} = (a^{12})^{92} \equiv ((mod 13))$$

$$A^{1104} = (a^{16})^{65} \equiv ((mod 17))$$

$$A^{1104} \equiv ((mod 5.13.17)) \text{ When } 1105 \times 4$$

$$A^{1105} \equiv A ((mod 1105)) \text{ when } 1105 \times 4$$

$$A^{1105} \equiv A ((mod 1105)) \text{ when } 1105 \times 4$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mod 1105)) \text{ for all } A$$

$$A^{1105} \equiv A ((mo$$

```
17. Show that the smallest pseudoprime 341 is not an an absolute prime by showing (1341 $ 11 (mod 341)
     341 = 11.31. Suppose 11341 = 11 (mod 341)
     Then 11 341 = 11 (mod 31). But 11=12/=-3 (mod 31)
     -: 112-170 = (-3) (mod 31)
     But (-3)^{9} = -19683 and -635-31 = -19685

-5 = (-3)^{5} = 2 \pmod{31}

-5 = (-3)^{162} = 2^{18} \pmod{31}
      But 210 = 1024 = 1 (mod 31) (31-33 = 1023)
28 = 256 = 8.31 + 8 = 8 (mod 31)
          -. 2 (8 = 8 (mod 31)
     -- (-3) = 8 (mod 31)
        (-3)^4 = 81 = 2.31 + 19 = 19 \pmod{81}

-2(-3)^8 = 19^2 = 361 = 31.11 + 20 = 20 \pmod{31}
      _-. (-3) 162 (-3) 8 = 8.20 = 160 = 5.31 + 5 = 5 (mod 31)
     -11^{740} \equiv (-3)^{170} \equiv 5 \pmod{31}
```

```
[1]^{341} = 5 - 11 = 55 = 31 + 24 = 24 \pmod{31}
    = 10^{341} = 24 \pmod{31}, so 11^{341} \neq 11 \pmod{31}
     -. Contradiction reached so 11341 $ 11 (mod 341)
     Note: assuming 11^{34!} = (1 \pmod{34!} = 71!) = (1 \pmod{11})

But since 11^{6} = (1 \pmod{11}, 11^{340} = 1 \pmod{11}),

and 1 = 11^{34!} = 11 \pmod{11}. That's why

attacked problem using mod 31.
18. (a) When n = 2p, pan odd prime, prove a^{n-1} \equiv q \pmod{n} for any integer a.
          Pf: aP-1= ( (madp) (Fermat M.), and a=a (mdp)
              -. a - a = a = a (mod p)

As 2p=h, ... a -1 = a (mod p), so p | a -1 - q
             Mow, if a is even, z \neq a = 2x, some x = 2^{n-1} - a = (2x)^{n-1} - 2x = 2^{n-1} x^{n-1} - 2x = 2(2^{n-2} x^{n-1} - x)
                    Since n = 2, Then 2 | an-1-a
              Suppose a 15 odd. Since 2p is even,
```

19. Prove any integer of The torm N = ((K+1)(12K+1)(18K+1)is an absolutz pseudoprime it all Three factors are prime Pf; Let p = 6k+1, p=12k+1, p=18k+1 Assume P, P2, P3 are prime. $N = (72K^{2} + 18K + 1)(18K + 1)$ $= 18.72K^{3} + 72K^{2} + 18.18K^{2} + 18K + 18K + 1$ $= 36.36K^{3} + 36.2K^{2} + 36.9K^{2} + 36K + 1$ $= 36K [36K^{2} + 11K^{2} + 1]$ $-(p_1-1)|(n-1), (p_2-1)|(n-1), (p_3-1)|n-1$ Since P, P2, P3 are distinct primes, and n is square-free (each prime bf power 1), Then n is absolute pseudoprime by Th. 5.3 20. Show that 561/2561-2 and 561/356-3 (a). $z^2 = 1 \pmod{3}$, $\therefore (2^2)^{280} = 2^{660} = 1 \pmod{3}$

$$2^{n} = 1 \pmod{11} \quad (Fermet's Ph.)$$

$$\therefore (2^{10})^{56} = 2^{560} = 1 \pmod{11}$$

$$2^{16} = (\mod{12}) \quad (Fermet's Ph.)$$

$$\therefore (2^{10})^{36} = 2^{560} = (\mod{17})$$

$$\therefore 2^{560} = (\mod{3\cdot11\cdot17}) \quad \text{and} \quad 3\cdot11\cdot17 = 561$$

$$\therefore 2^{50} = 2 \pmod{561} \therefore 561 \mid 2^{581} - 2$$

$$(5) \text{ By } \text{ Fermet's } Ph. \quad 3^{10} = 1 \pmod{11}, \quad 3^{10} = 1 \pmod{17}$$

$$\therefore 3^{560} = 1 \pmod{11}, \quad 3^{10} = 1 \pmod{17}$$

$$\therefore 3^{560} = 1 \pmod{11}, \quad 3^{560} = 1 \pmod{17}$$

$$\therefore 11 \mid 3^{561} - 3, \quad 17 \mid$$

But
$$67^2 = 3249 = 6.561-117$$
 $\therefore 57^2 = (-117) \pmod{561}$, and $(57^2)^{40} = (-57)^{60}$
 $\therefore 3^{560} = (-117)^{40} \pmod{561}$
 $(-(17)^2 = 13689 = 24.661 + 225$
 $\therefore (-(17)^2 = 225 \pmod{661})$
 $\therefore 3^{560} = (-117)^{46} = 225^{20} \pmod{561}$
 $\therefore 225^2 = 50625 = 96.561 + 135$
 $\therefore 225^2 = [35 \pmod{561}]$
 $\therefore 3^{560} = 225^{20} = [35^{10} \pmod{561}]$
 $\therefore 3^{560} = 273^{10} = 273^{10} \pmod{561}$
 $\therefore 3^{560} = [35^{10} = 273^{10} \pmod{561}]$
 $\therefore 3^{560} = [35^{10} = 273^{10} \pmod{561}]$
 $\therefore 3^{560} = [35^{10} = 273^{10} \pmod{561}]$
 $\therefore 3^{560} = [35^{10} = 273^{10} \pmod{561}]$

Theorem 5.3 - a more explicit proof

Let n be a composite square-free integer,

say, n= pp. p, each p. distinct.

If (p.-1) | (n-1) for i = 1,2,..., r, Then n is

absolute prime.

Pf: Suppose initially a is some integer s.t. gcd(a, h) = (..., gcd(a, p) = 1 for each i Fermats Th. yields p. a -1 Since (p.-1) (n-1), Then n-1=k(p.-1), some K. $= \frac{\kappa(\rho_{i-1})}{-1} = \frac{\kappa(\rho_{i-1})(\kappa-1)}{\alpha(q_{i-1})(q_{i-1})} + \cdots + \frac{\kappa(\rho_{i-1})}{\alpha(q_{i-1})}$.. P. an-1 for all i. i. p: lan-a for all i. i. From corollary 2, 8h. 2.4 (sec. 2.2), $n \mid a^{h} - a$ Now if gcd(a,n) =1, Then let $gcd(q, n) = P. P. P. Where <math>p \in \{P_1, ..., p\}$ Since n is square-free and composed of distinct primes, Then p. ared distinct

and have exponents of 1.

Let
$$a' = a / \beta_1 \beta_2 \beta_3$$
 $\vdots \quad a = (\beta_1 \beta_2 \beta_3 \beta_4) (a')$
 $\vdots \quad a = (\beta_1 \beta_2 \beta_3 \beta_4) (a')$

-.
$$gcd(a',n)=1$$
, and from above, $n(a')^n-a$

-:
$$n \left((p_1 p_2 p_3)^n (a') - (p_1 p_2 p_3) (a') \right)$$

From [13 above, $(p_1 p_3 p_3) (a') = q$

-: $n \mid a^n - a \mid \text{if } \gcd(a, u) \neq 1$